2.3 — Linear equations

Student name:

1. Solve the equation

2. Solve the equation.

x+43 3(x-1)

7
3. Solve the equations.

2-3(1-2x) =42 —x)

- : S_n.
4. Find » when 6 =24

5. Solve.

6. Solve the following equation.

7. Solve these equations.

zi—i—:
(d}n5 7=13

(b) 7(x+3)—2(x+4)=10

8. Solve.

2x—3(1 —4x)=2(11 —3x)

9. Solve.

Tx+9=5x+17
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14

1

17-2x = 4x-17.

2x +1

x+l_

3

+

;=

Score:
X s [2]
X [3]
X S [3]
I TSN [1]
X e [3]
X S [3]
X e [2]
X e [3]
X s [3]
X s [2]




10. Solve.

2-4(5-29)=0

11. Solve.

(a) 4r=28

() 3(a—6)=24

12. Solve the equation.

x—11=—4
13. Solve the equation.
45-2L -5
X
14. Solve.
6x—5=19
15. Solve.
6—2t=-12

16. Solve.

—3(1—4x)=9

17. Solve the equation.

2x—T7=-3

18. Solve.

2(dx—1)=3(2x+1)

X e [2]
X T e [1]
(= oo [2]
o U [1]
X o e [3]

X = et [2]
b e [2]
X o e [3]

X T e en [2]

X S e [3]

www.mathssupport.org




19. Solve.

20. Solve.

(a) 5-2x=0

(b) —12+2v=5x—3

21.Solve the equation.

2q—T7=2-Tq
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